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JIEASE K 4 B B ouT IN  TOTAL JEAE K 4 i & ouT IN  TOTAL JIEAE K 4 i )& ouT IN  TOTAL
1 BRM * J\FHcc 40 34 74 51 R# & IN=1.2(=[ele 43 41 84 101 £ RE J—Sw RHLARGC 48 42 90
2 BF RX EDEGC 39 36 75 52 LG = ARAJIGC 43 41 84 102 MMAE # =@CC 48 42 90
3 BN =8B [E5{&{aCC 41 35 76 % 53 Hf XA TA1)RCC 42 42 84 103 AHE %®— [E5&{acc 48 42 90
4 SATH {ESF FHRBEOGMGC 39 37 76 B 54 BR BTz BEECC 42 42 84 104 Mk & =mCC 45 45 90
5 BiE &N Fllucc 39 37 76 & 55 JRHE EER IN=Ti:[e]e] 46 39 85 105 BB&KR FlfT EERIEGC 45 45 90
6 IUT KfEER J—SwRILRRGC 39 37 76 @ 56 WWT EZ EDEGC 44 41 85 106 BJIl {E%F0 Alicc 44 46 90
T R AE —Ur RILARGC 38 38 76 157 me ®m __ _Emcc_ ____ 43 42 85 107 {8 BX IL&#I%ECC 44 46 90
8 EH EA ARJIGC 41 36 77 58 EIl B— IN=1"3(=[e]e; 43 42 85 108 Il B4 F1)—GCEMDTE 43 47 90
9 A XE EmCC 39 38 77 59 1EH #HE ILE#IFECC 43 42 85 109 s = [LE#IZECC 40 50 90
10 ;BH & =mCC 38 39 77 60 PIER ZRE [LE{E{HCC 48 38 86 110 K# fB— =FCC 48 43 91
11 &N & J—Sw ZILARGC 40 38 78 61 H & IN=1".2(=[ele 45 41 86 111 /A A& IN=1".2(=[ele 48 43 91
12 KA & yN=1".2=[ele 38 40 78 62 TH H4& LEB&RIEGC 45 41 86 112 58 #* FEMEGC 46 45 91
13 &R —% LE&RIEGC 42 37 79 63 IR 5= [EDEGC 44 42 86 113 {#iE E—8 =mCC 52 40 92
14 He & J\FHLcCe 41 38 79 64 HIL BARE EEBCC 44 42 86 114 &K &4 IN=Ti:{ele 49 43 92
15 HE Bif 7A')ACC 40 39 79 65 FRE BE— IN=Ti:[e{o] 43 43 86 115 RIE %5k yN=Tiele: 47 45 92
16 2 #WA [LE&RIEGC 38 41 79 66 WA Bhz [EDEGC 42 44 86 116 BA #xX AHJIGC 46 46 92
17 5H & ARJIGC 38 41 79 67 SH 58 IN=1"3(=[e]e; 42 44 86 117 )l EFD =FCC 45 48 93
18 IMK E IN=1"3(=[e]e; 36 43 79 68 A ET FHHEHOGMGC 42 44 86 118 A #1Ar7 FEDEGC 46 48 94
19 RiB EBE#H F—GCHMDTH 42 38 80 69 it HBH J\FHCC 41 45 86 119 L&k B4 J\FHcc 46 48 94
20 Fn W IN=1"3(=[e]e; 41 39 80 70 EF = [LE#CC 47 40 87 120 Jilgp = J—Sw RHLARGC 52 43 95
21 B% lB— [LE#IECC 39 41 80 71 AR FEX AKHAJIGC 44 43 87 121 K@ ERE [EDEGC 49 46 95
22 FBEM F=HR [EEREGC 39 41 80 72 M FHEA [LB&GC 44 43 87 122 JKiE #2A8 [LB&GC 47 48 95
23 HW #xX Flicc 38 42 80 73 B/ —E J—Sw RILRRGC 44 43 87 123 h¥ — [LEGC 46 49 95
24 AR KX FA)ARCC 44 37 81 74 EHE & J\FHCC 43 44 87 124 KfE #E FI!)—GCHEMDH 51 45 96
25 MT Bz J\FHCcC 43 38 81 75 BAY =EAR [LE#IFECC 42 45 87 125 FH ®E{T J\FHCcC 50 46 96
26 S IN=1"3(=[e]e; 43 38 81 76 AR BEA IN=1"3(=[e]e; 47 41 88 126 {E4<ME @&l LEREGC 53 44 97
27 TH #ikg J—Sw RILRMGC 41 40 81 T EBR A2 AHJIGC 47 41 88 127 #E FE AKHIJIGC 52 48 100
28 WEE AF [EEREGC 39 42 81 78 IO R =FCC 46 42 88 128 K#t Ez [EDEGC 43 57 100
29 WNEF BFE J—L v RELARGC 44 38 82 79 YEHE &= EOEGC 45 43 88 M R B [LB#IZECC
30 {FA RE FHREOGMGC 44 38 82 80 BEA ZEH EDEGC 45 43 88 FHE BB NIE INZTic[e]e;

31 ARER EE IN=TETele 44 38 82 81 A #= EmCC 45 43 88 B BN F7A')ACC
32 KHE BERE EDEGC 43 39 82 82 #ik B [LB#IZECC 45 43 88 M AR fHZ J\FHLCC
33 B HER =@cCC 42 40 82 83 XM ZH AHAJIIGC 45 43 88 Ktk BE 1E =@CC

34 M5 —H F7AJRCC 42 40 82 84 BA [ [RE#CC 45 43 88 PR | EmCC

35 RFE Eth J—SwRILRRGC 42 40 82 85 TH RE J—SwRHLRRGC 44 44 88 Kk AR ERE [EDEGC
6 KE —F [y =1".3(=[ele] 41 41 82 86 LUIR {SHE AHAJIIGC 43 45 88 ER - CE [LB#IZECC
37 WX Fx EDEGC 39 43 82 87 &KX FH J\FHCC 43 45 88 R IMR BUE IN=1"3(=[e]e;
38 #HE FIHA yN=1".3(=[ele] 39 43 82 88 IRE &Rk [LB#IZECC 42 46 88 R AHE BAE HEEBCC

39 kB FX [RE#ECC 37 45 82 89 Il Fif AHJIGC 41 47 88 Ky BER Sl AHJIGC
10 XK A AXRJIGC 46 37 83 90 K& #5h AAJIIGC 47 42 89 K5I fB— [EDEGC
41 B% &H =@cCcC 44 39 83 91 Bh3k WFH [RE#CC 46 43 89 K RS &# [LBGC

42 ) BE— =@CC 43 40 83 92 FFih FHBH J—SwRHLRGC 45 44 89 K IUAR fE— [LB%&{EGC
43 BR 2 =mCC 43 40 83 93 2@ Fid Fr)—GCHEHDFH 45 44 89 K A Nt J—SwRYILRRGC
44 MmF H= [RE#ECC 42 41 83 94 BFH Kif [EDRGC 44 45 89 Kz FiR FX yN=1"2(=[e]e
45 FH BE FI—GCEHDFH 41 42 83 95 =)l BiE =fCcC 43 46 89 K RE H= FA')ACC
46 BIER IETH FHRHEOGMGC 43 41 84 9% =R & J\FHcCC 43 46 89 K HFER @BZ FEDERGC
47 BKX E [LEGC 43 41 84 97 /A & [LB#IZECC 40 49 89 K Il =R yN=1"2(=[e]e
48 M A= [LE#IECC 43 41 84 98 LLUE BAE [EDRGC 50 40 90 K LB $ERE =@CcC

49 fERK &EX N=T:i:[e1] 43 41 84 9 R BR HEECC 49 41 90 K Bl BB [LEGC

50 FAIER R J\FHcc 43 41 84 100 H[FIA —H IN=1".2(=[ele 49 41 90 K TR FIS =@CC
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